Fo1EEEFHMEF/ N AL—FR—ILY—TE (—RB%X)

FH30F£6A100 (A) BEBEEIL—=2TRVE2—

F—L% —Fs KYITA BRYST |[B K F—L% TERLF Amuse |Hangloose|f BX
-8 O O 2-0 BIREF O O 2—-0
<Ytk X X 0—2 Amus e X O 1—1
RHY ST X O 1—1| | fare X X 0-2
B B —F5g B BRSZT B B TEKIF EE Amu s e
3 f{uI <YlTtA 3 fiI Hang Loose
s IE AR
O — b x B MM F O — bk x B MM F
rz1— 919 rz1— 619 Han g
A—1 —5g 2 | 21—14] 0 <KYFA B— 1 BHKEZF 2| 21— 4] OLoose
L —_— | L —_— |
rt5—2 19 rz1— 89 Hang
A—2 YA O | 14—21 | 22FNHS5T B—2 Amuse2 |21—10] OLoose
L —_— | L —_— |
rz1—199 r2z1—2 39
A—3 -5 2 |19—21| 18MHY 3T B—3 |B&xF 2]|21—13] 1Amuse
L21— g4 Lo 1—18-




